0.57 7.99 0.57
14.5 203 14.5
0.39 [14.9] [203] [14.9]
o] |
I I 4-Mounting Holes
] - for M8 Screw
I I —
n >
; ) I
S -
o NE H
NOTE: FOR PROPER LIFTING, HANDLING AND
MOUNTING INSTRUCTIONS, CONSULT MANUAL.
0.39
[10] =
- e =
i WL @,
ULW~ 1 = 0
—_— Hay, ny, i)
g [ "i:lll lyi:lll =Ll
& dJ
t TOP VIEW
0.57 7.99 0.57
[14.5] [203] [14.5]
WIDTH MTG DIM
=) B = d

10.24+.20
[260+5]

0.09

i f ® | Jt_ﬁg J E=e | = mq

9.13 0.1 11.85
[232] [2.5] [301] I

VOLTAGE | CURRENT | WEIGHT | HEAT
(VAC) (A) LBS (Kg) | LOSS (W)

UFI000351 EUJ71082X 200/240 57 30.8 (14.0) 80

PART # DESCRIPTION

TOLERANCES / REFERENCES: m | DRAWN: DATE TITLE:
YAS KAWA J. MATTAS 7-28-14| D1000 PWM FILTER MODULE
o | DIMENSION DRAWING

J. PIOTROWSKI |7-30-14 | UF1000351

THIS DOCUMENT AND INFORMATION CONTAINED TjCHfa ORJA 7 g“f 14l
IN IT ARE CONFIDENTIAL, AND CANNOT BE | =-—— o SizE REVISION FAGE
COPIED OR DISCLOSED IN WHOLE OR IN PART| J  CAIRO 9-23-14 A R0O 1 of 2
UNITS: SCALE WITHOUT THE EXPRESS WRITTEN CONSENT [GRIGINAL DESIGN: BarE ] DR WING
IN[mm]| OF YASKAWA AMERICA, INC. - - | DD.UFI000351




TERMINAL DETAILS

(FRONT COVER AND TOP COVER REMOVED) ELECTRICAL DIAGRAM
2.19 1.81 1.81
Voltage Detection Terminals [55.5] [46] [46]

with M4 Screw

ore PWM Filter Module InputACResctor |
MCCB = 3
Thres- — —m { ,RIL] p Y XJJ ,LU_WY X d RILA
Phase :l_\‘_-'i_-L2 o Y1 W ¥ L
Power — %" = Syl —(O— ~YL ©) sz
S CTI AN B D0 T & o
I @ Ll
_EJT;?\EJ
= OOL
rlaf t

)
S
~E
‘e gl 2
'\'I‘ s
{O1E3
[
0.93 6.14 Grounding Terminals
[23.5] [156]
with M6 Screw
2.19 1.81 1.81
[555] | 6] | W6l | (1758
Main Terminals 0 84
with M6 Screw(input) R/L1 S/L2 T/L3 [21.4]
0.08
[2.1] r,o,t

g
: |
@ o lehe¥
Main Terminals input
@
— )
E O
a i i £
o=t ) Grounding Terminals £
R D i 0.26 —
H = —| |— (=]
Hd g g 6.6] . . N9S
SN E =E Main Terminals output Hes
e © o o = q <
© S He 3 [an) © ﬁg
T HgoD S °
s T®s a 8
N~ ¢ @0 =
22 T s :
o £ b
U= -
~R 2 A | | %
N - A= =4 A= 24 =
s
| L |

2.15 1.97 1.97 Main Terminals

[54.5] [50] [50]

@LD\ '

with M6 Screw(output)

TOLERANCES / REFERENCES: m | DRAWN: DATE TITLE:
YAS KAWA J. MATTAS 7-28-14| D1000 PWM FILTER MODULE
o7 | DIMENSION DRAWING

J. PIOTROWSKI [ 7-30-14 | UF1000351

THIS DOCUMENT AND INFORMATION CONTAINED TjCHB ORJA 7 g‘}TE 14l
IN IT ARE CONFIDENTIAL, AND CANNOT BE |——— —— SIZE REVISION FAGE
COPIED OR DISCLOSED IN WHOLE OR IN PART| J  CAIRO 9-23-14 A R0O 2 of 2

UNITS: SCALE: WITHOUT THE EXPRESS WRITTEN CONSENT [ORIGINAL DESIGN: Cr R
INlmm] | 1:4 |orF vaskawa america, inc. - - |DD.UFI1000351




